
Shree Somnath Sanskrit University
Rajendra Bhuvan Road, Veraval

Question Paper Format for Shastri (8.A.) -ZOLI-L}

ygq*gyl6rifrHtrs-ftulqBffi/ The format of Question paper shall be as follows.

Cfqqs-fFTil-C / Course Name

' 9lQ{-mqTe$^g,tdlr/ Course Code

o Wt ^fusl. 
- 70 lMax. Marks: 7o

o {Frq. -*{Hqq/ Time : 3 Hours

Section Unit Question

No.

To be asked To be

attempted

Marks Total

A I 1

2

3 gr-s1-CTqes;

Z @-+xrr.r*xa;

2

1

5

10

2 x 5:10
1x10:10

B II J

4

3 (qrcqFqfres;

Z @+xntr+r*;

2

1

5

10

2 x 5:10
lxl0:10

C m 5

6

3 @rqnr+ys)
2 @-+*inr*m;

2

1

5

l0
2 x 5:10

1xl0:10
D 7 10 l0x1:10

70

/ fhis,prper shall comprise of four sections. First three sections (i.e. A, B and C) comprise three

units;where first question shall comprise of 3 short answer questions of 5 marks each out of which

2 questions is to be attempted by the examinee.

{ fh" second question of each unit shall comprise 2longanswer questions of 10 marks each out of 1

question is to be attempted by the examinee.

y' fh" fourth section (i.e. section-D) shall comprise of 15 objective type questions from all three units

of l.mark each out of l0 questions is to be attempted by the examinee.
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